Convertir Sistemas Numéricos (E)

Escriba cada respuesta en la base numérica indicada.

Octal = 3

Binario =

Octal = 1032
Decimal =

Octal = 1250
Hexadecimal =

Octal = 1501

Binario =

Octal = 11353
Hexadecimal =

2.

10.

Octal = 36
Hexadecimal =

Octal = 323
Decimal =

Octal = 436
Hexadecimal =

Octal = 570
Hexadecimal =

Octal = 22274
Decimal =
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Convertir Sistemas Numéricos (E) Respuestas

Escriba cada respuesta en la base numérica indicada.

Octal = 3
Binario = 11

Octal = 1032
Decimal = 538

Octal = 1250
Hexadecimal = 2A8

Octal = 1501
Binario = 1101000001

Octal = 11353
Hexadecimal = 12EB

2.

10.

Octal = 36
Hexadecimal = 1E

Octal = 323
Decimal = 211

Octal = 436
Hexadecimal = 11E

Octal = 570
Hexadecimal = 178

Octal = 22274
Decimal = 9404
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